
Joint distribution of Rus H
. Y : Revision

individual Rus can be described by

parts (discrete)
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Independence of events
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Proposition K
, y are independent iff
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Marginal Densities and Independence

Suppose H , y have the joint distribution
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Expected Values of Rus
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Imagines a die with whiners -3
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Poo position 39 ( " Law of the Unconscious Statistician ;
LOTUS )
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Applications of Locus
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let It
, y be Rus
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what about EEK ty ) ?
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Lotus also holds for 2- dim
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Generalization

E- [ Ein ki ) = EEK i]

Throwing 2 dice ,
adding result Itntkz
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Example 42 : Tossing coin u times
,
E[# heads ] = ?

put) =p , p CE) = t-p

let Hi -- t iff head with i - th toss ⇒ E [ Hi > =p

u times r.EE?InItf--uEEke3-- up
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